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I Round off 59H,7tl0 to the n"o"i.t
fhousonds. (2 monks)

2 Wrife the following number- in wor ds.
5110,032 (2 morks)

3 Compone the numbers below, ,.ing th"
sign (, ) on = (2 morks)

q

LL 

- 

0.577

r{ Find the missing number to rnok" th"
stotement cornect' (2 morks)

3qx(82+-)=39Xl0O

5 4dd,2.1263 + 3.02 (2 mqrks) 6 Fill in the next two missing numbers,,
(2 morks)

2; ,1 ; 16 ; _____ ; _____

v Express 5% os o froction in +h" lo*".t
terms. (2 mqnks)

8 . az+b
Lvqluote ;;-, if q = 3;b - -3;c =c- d"

2ondd=5 (2morks)
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q Convent' (2 morks),

(o). tt3,ooo9 
= -------- kg

-i'
(b).5.5 tons = -------- kg

t0 Find +he cincumference of o circle
whose rqdius is Scm. (r = 3.14) (2 morks)

il
Express the numbe" I I o. o pencentoge.

(2 morks)

t2 Use o quick multiplicotion method to
colculote the product 8t{ x qq (2 monks)

t3 lf ongle k ond 70o one supplementory
ongles, find +he size of ongle k. (2 morks)

IH Solve the equotion to find the volue oit

x: 3 (x + 2) = 21, (2 mqnks)

t5 ls the number 835,87q divisible by ll?
Show how you arrive to fhe onswer.
(2 morks)

r6 Find the highesf common foctor (H.C.Ff
of ll2 ond 168. (2 morks)

t7 Find the overoge oge of for" 
"hild*nwhose nespeptive oges ore tl yeors, G

yeors, S yeons ond l0 yeqns. (2 morks)

't8 Bwuzu bought o shint of 6,000F"*. H"
sold it of 7,2OOFrw. Whqt wos his
percentoge profit? (2 morks)
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H Given fhe number 500.073, whqt is'the
ploce voluei Q morks)
(o). of 5?

(b). of 7?

20 The cost of 5 bottles of ononge juice is
t{,000Frw. Whot is the cost of 3
bottles of the some juice? (2 morks)

2l Arronge the following froctions in

35
descending order,i ; O.ZS i 

'-tzmorks)

22 Find the volume of finewood in q stock

o1P 3m by 2m by 3m in destenes (dst).
(2 morks)

23 Add' (2 morks)

7 houns 25 minutes * I hour tlS minutes

21 Drqw the following ongles' (2 morks)
(o). Reflex ongle (b). Right ongle

25 colcutoie' ; . ; - : (2 mo.ks) 25 Find the lowest common multiple (LCM)

of 18 ond 6t'1. (3 monks)

27 Chonge 25t"n to bose ihree. (3 morks) 28 lf 0.20 of q number is t10, whct is the
number'? (3 morks)
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Colculoti the.volurne of o cone whose

rodius is 5cm ond height is l0cm.

,u,t" n = 3.14) (3 monks)

Colculote the sum of interior ongles of
o regulor hexogon. (3 morks)

The figyr:e below is,o rectongulon prism whose length is Scm, width is tlcm ond height is

3cm.

Scrrt

The ioble below shows how primory six (P.5) closs scored in English Test morked out o1c

Morks 60 Ll0 vo 35 t0 r5

Frequencv 8 I 3 Ll 5 rt

(o). Complete the toble below. (tl morks)

("). Find the overoge mork of the
clqss? (2 morks)
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puPilslikeMothemqticsondx.PuPilslikeboth

subJects. Eoch pupil likes of leqst one of the subjects.

(o). Repnesent this informotion on o Venn dio5jrom. (3 morks)

(b). Find, x, the number of pupils who like both subjects. (t{ monks)

33

11
A mon spent I of his money on buying food qnd ; "t-1" 

nemoinder on cornmunicofion'

(o). Whot f"o""tion of his money wos he left with? (5 morks)

(b). tf he wos left with 15,000Fnw, how much did he hove of the beginning? (2 mqrks)

3t{

ffiOOF"* from o bonk of on interest of 6'/. pen yeon'

(o). Ho* much interest must he poy ofter five (5) months? (5 morks)

..'

(b). Who+ qmount will the tnoder poy oltogether? (2 morks)
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